3

FRSEL/

PRAERY . AT EH

MB1W %53

032, 240, 950, 063, 980, 100, 125

MERTHE

BN vB1wIL]
EETEEN MDB1WIL]

32

1?0

32

150

M9BW

IiT%lJ%mﬁ
R ERER HEIP.342,
REER T XA
B| =iz Figg | 24
L[| mewm s | 14
F| #=m 3 s
n n
HE e -
32| 32mm T TR HIEL S
40| 40mm [Ziee | xmMsrx |
50 50mm B AU OB TFRAR,
63| 63mm
80| 80mm 1B Oy
100| 100mm Ziae | Re SRFiFE /SEEIES
125| 125mm TN NPT Eies I
TF | G J AR A (— i)
[GEAES JJ AR A (F)
_ K AT (— %)
?T%E(mm)" KK i B A 75 (FE 2
LN i)
Z IP.341 945 .
UP.341 BRI R - A
P B B S AR S L e
BRI RIS BT DESEANGE EHENE,
@BQ%Z??EE%EMD i BEERNBNETE NS SUILE KIS, 032, 040
SHIILS ALILS . #6mm 050, 063448mm 080, 6100#410mm_10mm .
(f1)MDB1WB40-100 01251812mm,
18 S RE M TF 3% (it 77 B 4RSS P, 12631371, )
i 7 RRBE W XA SEKEm) e
; sS4 |15 . = SR
Fhsk HERALEE | Bad) . 05]1]3]5 ? EARE
7t |f DC AC H w6 |l | @ BE*
3%(NPN) MONV | M9N (@ ([@|@|O| O
— 3%(PNP) sv.rav MOPV | M9P | @ |@|®@|O| O |
z&m 24 12V M9BV M9B ® @ e O O -
i 3%(NPN) MONWV | MONW | @ (@ |®@|O| O ,
| wwmmeemm |mmwss|s smewe) | 2ov P72V [mePwv| MePw | e (@ @ O o | 'O %R
‘% 244 12V M9BWV | M9BW ([ @ (@ | ®@ O O -
i 3%(NPN) oV 12V MONAV | M9NA | O [O|@[O] O [y
Ttk 3R (22457 3%(PNP) : M9OPAV | M9PA | O |O|@|O] O
2% 12V M9BAV | M9BA | O (O |@|O| O -
3%
oL - - 5V - A%V | A% | @ ° - |icEs| -
i — apmgz| P [HEENPN) .
5; I YN oav | 1ov 100V A93V A3 (@ |- @] - - - | 4k
% 5 100V | ASOV | A9 | @ |- |@|-| - |ICE®| PLC
HSLKEES 0.5m EiES  (fMONW SHEOR AR T T IR
1m M (f)MONWM
3m L (f)MONWL
5m z ()MONWZ

SBRARA SN, o RER K AR FF X5 P850,
S SRR B RSk AR T X EILP.1328 1329,
MIFREEH (RARK).

340

O
3

Best Pneumatics 2 1




N =

i

A& ‘-1/

JISERFHS
XA R AE

=

EITIER

FAKES NP

(inm) FREFTRE (mm)

a2 | 25.50,75,100,125, 150,175, 200, 250
300, 350, 400, 450, 500

40 |25:50.75,100, 125,150, 175,200
250, 300, 350, 400, 450, 500

5o |25 50.75. 100, 125, 150, 175, 200
250, 300, 350, 400, 450, 500, 600

g3 |25:50.75 100, 125, 150, 175, 200
250, 300, 350, 400, 450, 500, 600

go |25 50.75.100, 125,150, 175, 200, 250
300, 350, 400, 450, 500, 600, 700, 800
25,50, 75, 100, 125, 150, 175, 200, 250

100 | 300, 350, 400, 450, 500, 600, 700, 800
25,50, 75, 100, 125, 150, 175, 200, 250,300

125 1350 400, 450, 500, 600, 700, 800, 1000

Fa it HfE.
(REARR, )

PP EM R

LS Vakiak=37 05 Re A FERE
J =4k 70°C
K ek #110°C
KEHPELRNESHITEE,
REHES

HE

(mm) 32 40 50
B e MB-L03 | MB-L04 | MB-LO5
= MB-FO3 | MB-FO4 | MB-F05
HE

(mm) 63 80 100
BIE MB-L06 | MB-L08 MB-L10
P MB-FO6 | MB-FO8 | MB-F10
ke

G 125

Bz MB-L12

o MB-F12

) BBV B SELR T 2/ REIEE .

ik T < B ALAE S 0L —P.349 350,

BT R KRR NMTE

B XREEREME(FTRRMEH )R
ZEBE

HIEEE

REMHRHEBS

exraa/smensarnen MBTW &3

g
H1Z(mm) 32 | 40 | 50 [ 63 [ 80 | 100 | 125
FEAR TAF A F
R =5
ifit EiR G E 1 1.5MPa
EaEREN 1.0MPa
SAREREN 0.05MPa
MFFE —10~70°C (B KRS
SRR (R A TR X CUBRAL) CJ1
HHIETFE —10~60°C (BRAL)
“A3H RE (RhiHh)
ey 50~ CJP
EERE 50~1000mm/s S 00mmis
TREKERE ~250 :*3°, 251~800 : *)* CJ2
EE R DEM (KEA)
& 0Z(Re.NPT.G) 1/8 1/4 38 \ 112 CM2
RERR EARE . MR, KR
EETEAGERT, BEEA®, CG1
ZRAERIL AN 5 BT RIEARE R — 8.
MB
RERR HAR P EERY E=E
CA2
RS Frim iR & [ [ [
B °® ® ® CSi
ik T Bt 2 3k (i § ) [ [ [
BtE ° P ° CS2
N ; OUT <-—
EitHHANE BN N —
FAKES i HiE | REAER fEAES (MPa)
(mm) (mm) Fila) (mm2) |02 |03 |04|05|06|07|08]|09]|10
32 12 IN OUT 691 138 | 207 | 276 | 346 | 415 | 484 | 553 | 622 | 691
40 16 IN OUT 1056 | 211 | 317 | 422 | 528 | 634 | 739 | 845 | 950 | 1056
50 20 IN OUT 1649 | 330 | 495 | 660 | 825 | 989 | 1154 | 1319 | 1484 | 1649
63 20 IN OUT 2803 | 561 | 841 | 1121|1402 | 1682 | 1962 | 2242 | 2523 | 2803
80 25 IN OUT 4536 | 907 | 1361 | 1814 | 2268 | 2722 | 3175 | 3629 | 4082 | 4536
100 30 IN OUT 7147 | 1429 | 2144 | 2859 | 3574 | 4288 | 5003 | 5718 | 6432 | 7147
125 32 IN OUT | 11468 |2294 | 3440 | 4588 | 5734 | 6881 | 8028 | 9174 | 10321 | 11468
JE)ERHH 1(N) = E1(MPa) x 2 EEFR(mm?)
RE® (k)
5T4Z (mm) 32 | 40 | 50 | 63 | 80 | 100 | 125
HAR 059 | 082 | 1.39 | 1.72 | 322 | 427 | 668
EXRE BIER 071 | 0.96 | 1.61 | 20 | 3.72 | 493 | 876
i 0.88 | 1.19 | 1.84 | 251 | 4.67 | 7.58 | 10.86
HF50mmiTREENRE EMREM 0.20 | 0.29 | 0.41 | 0.45 | 0.75 | 1.0 1.25
R 0.15 | 0.23 | 0.26 | 0.26 | 0.60 | 0.83 | 1.10
it SR 1 Sk (4545 B 0.22 | 0.37 | 043 | 043 | 0.87 | 1.27 | 091
ITHEE
)MB1WB32-100 (£ A%/ 032,100st)
.......... Osgkg
+0.20/50mm475E
---100mm
0.59+0.20 x 100/50=0.99kg
D-0O0
-XO
A5
-XO
AR
B
341
4 SNC

Best Pneumatics 2 1



MB1W %53

EHfE A

/H\\

®@@) (20807020

®@»B

e . |
T T =
w —— ?
e — ——— - ———-
/ | ‘
0O
MR E G
No. A% IR &oF No. & HE #F
1| e 45 T AL #12 | BMEHE BEE
2 | @ Eae B REREL 13 | FFEEE NBR
3 | wEEs B Rk 14 | EETHE NBR
4 | m= Eae Sm 15 | ErEEEE NBR
5 | gEME # #16_| AEREEE NBR
6 | SmE ERE 17 | EESEHE NBR
7 | i e e 18 | R B
8 BB HEN 040~0100
9 | nF B Sm
10 HAIRE N R
1| irseEs B B
Ak £ =
T T B S AT
e s nE 20-MB1W [ZEF | (6172 | B DL m k|- (712|822 ]
32 MBW32—PS 2 TmE
40 MBW40—PS tREE
50 MBWS50 — PS 2.03.09 (® AT BREEEFREMEETEEBRREE~NEm, BEARERIES
63 MBW63 — PS H—1H 7, FGIESEBFR~4%,
80 MBW80 — PS
MBW100 — PS
X%Loom 1620 — 4 REI B AR ST el
w7 & i~ N AJ—/ZH , T HYZ =104, — P
S5 £ B4R {4 B 59978 AR £1(032~503510g. 06380209 010030g) S DA R
RRERLENHE RS TIIRS, Gk 032.040.050. 063, 080.0100
¥BAEELS . GR-S-010(10g) . GR-S-020(20g) BEERESN 1.0MPa
BREAESD 0.05MPa
Zi S
BT mzwmaamu
EREERE 50~1000mm/s
r
O | sTaimis ETR RAN, HEMED, FHEEY
(¥4 0 P.1395~1498,) SRR FF
S sk = 5 P, .
—XAL] | FFA R EE
—XB6 | fif# S %1(150°C) —
—XC3 | ENREXRNA i 7K 158 ST

—XC4 | R AL

—XC5 | fif < 41(110°C)

—XC6 | EEH ATRB MR AT FER
—XC7 | {uAt. il TR SSHHRATEN
—XC22| BmHFEAFIRIR

—XC30| AU E F e A AT AL AT

—XC35| HiEEhLE

—X846 | IEEERRAARREAEL

342

O

ok, BERAK.
FEMP.899,

St BISERLLE . WS ARAMEAEE,

55\21#)1%9‘]*?5%&%5’]%1"*1%% BT 7K P 3% A9 ST

& ATHRES AR SE D,

Best Pneumatics 2 1




exraa/smensarnen MBTW &3

1 /(B G 2xp G MM @wn VYW Zhig
EHARR/(B) - i M w
- —— 01 °l o
N P )
A= uloF ——— B Nirc U
El H = H
H: =~ I !
gl (| e I
102 A KIFCN 2x4xd N |F| K A Cc
h H S+i3% H+ 5% B CJ1
HPE 2Z 251 cJP
¥ ERENNGE EHLEN MM J%/ELB Fi w
= MY =] =3 M,
BITEARA A NS SAE, SRR, SN o - p— 3 — CJ2
032, 040 6mm. 050 063#8mm. ©80. —\ ot i /e
01001210mm, 0125 12mm, a
g &t’ @% 777777777

@T
e
T
d
o
oe
D
=
N

(=]
D
—h

| @ m
EC 102 102 BREE
f

A K ¢ |f N

4

h S+8 h+ 72 MB
ZZ+2f5%
O i1
& | GE |F5%%ms| A | B | C | D |Een| F|G|H|H MAMB| J |K| MM [N |P|S|V|w|zz s|zz CA2
32 ~500 | 19.5 10 | 22 |46 |325( 12| 30| 13|13 | 6 |47 |16 | 4 M6 x 1 6 |M10x1.25|265|1/8| 84 | 4 |6.5|178 90 |184
40 ~500 27 14 | 30|52 |38 |16 | 35| 13|14 | 8 |51 |16 | 4 M6 x 1 6 | M14x15 |265|1/4|84 | 4 | 9 |186 90 | 192 GS1
50 ~600 32 18 | 35 |65 |465]( 20 | 40 | 14 |155| 11 |58 |16 | 5 | M8x125 | 7 | Mi8x15 | 31 | 1/4| 94 | 5 |105]|210 102|218
63 ~600 32 18 | 35|75 |56.5( 20 | 45| 14 |165| 11 |58 |16 | 5 | M8x125 | 7 | MI8x15 | 31 | 3/8|94 | 9 |12 |[210 102|218 csz
80 ~800 37 22 |40 |95 |72 |25 |45| 20|19 |13 |72 |16 | 5 | MIOx15 | 10 | M22x15 |37.5| 3/8 |114 |115| 14 |258 124|268
100 ~800 37 26 | 40 |114|89 | 30 | 55| 20 |19 |16 |72 | 16 | 5 | MI0x15 | 10 | M26x15 |37.5| 1/2 |114| 17 | 15 |258 124|268
125 ~1000 50 27 | 54 |136|110| 32 | 60| 27 |19 |16 |97 [ 20 | 6 | M12x175| 13 | M27x2.0 | 38 | 1/2|120| 17 | 15 |314 132|316
BHPE
, ‘ h
(?TI]E) d|e|f |1~ |51~ [101~ [151~ [201~ [301~ [401~ [501~ [601~ |701~ (801~ {901~ | 1~ |51~ [101~ [151~ [201~ (301~ 401~ [501~ |601~ (701~ (801~ |01~
50 (100 [150 [200 (300 |400 |500 (600 |700 {800 |900 (1000 | 50 [100 {150 [200 (300 [400 (500 (600 (700 (750 [900 |1000
32 |54[36|23|12.5|25 [37.5| 50 | 75 |100 (125 | — | — | — | — | — |73 |86 |98 |111[136 161 (186 | — | — | — | — | —
40 |56(41]23]|12.5|25 [37.5| 50 | 75 |[100 (125 | — | — | — | — | — [ 81 |94 [106 | 119 [144 [169 [194 | — | — | — | — | —
50 |64[51|25[12.,5|25 37550 |75 [100 (125|150 | — | — | — | — | 89 [102 |114 |127 |152 |[177 |202 [227 | — | — | — -
63 |64[51|25|12.5|25 [37.5| 50 | 75 [100 [125 [150 | — | — | — | — [ 89 [102 114|127 [152 [177 [202 [227 | — | — | — | —
80 |68(56(29|12.5|25 [37.5| 50 | 75 | 100 | 125 | 150 | 175|200 | — | — [101 [114 [126 | 139 [164 | 189 [214 | 239|264 276 | — | —
100 |76 |61 |29 [12.5|25 |37.5| 50 | 75 | 100 | 125 | 150 | 1756 | 200 | — | — | 101 [114 |126 | 139 | 164 | 189 | 214 | 239 | 264 |276 | — | —
125 [82|75|27| 10 |20 | 30 | 40 | 60 | 80 | 100 | 120 | 140 | 160 | 180 |200 | 120 | 130 | 140 | 150 | 170 | 190 | 210 | 230 | 250 | 270 | 290 | 310
ZZRBUBPERRBRS .
o %22
(n%:;:) 1~ |51~ 101~ |151~ | 201~ |301~ [401~ 501~ |601~ (701~ |801~ |901~
50 |100 [150 (200 (300 (400 |500 {600 (700 {800 (900 (1000
32 230 | 256|280 | 306 | 356 406|456 | — | — | — | — | —
40 246 | 272|296 |322 |372 |422|472| — | — | — | — | —
50 |272 298|322 (348|398 [448 /498|548 | — | — | — | -
63 |272 | 298 | 322|348 |398 | 448498 |548| — | — | — | —
80 |316 | 342|366 | 392 | 442 | 492 | 542 | 592 | 642 | 692 | — | —
100 | 316 | 342 | 366 | 392 | 442 | 492 | 542 | 592 642 | 692 | — | —
125 | 340 | 360 | 380 | 400 | 440 | 480 | 520 | 560 | 600 | 640 | 680 | 720
D-[]
-XO
15
X0
BA

svC 343

Best Pneumatics 2 1

O



MB1W %53

PRAERTEREN ORI R T 5 R AR(P.343) RAIRH.
B EERY

BEIEERY /(L) wE | TR
mm) | skE X|Y |LD/LH|LS|LT|LX|LY|LZ

32 ~500 |22 | 9 | 7 |30|128[3.2|32 | 53 | 50

40 ~500 |24 |11 | 9 |33 |132|3.2| 38 | 59 | 55

50 ~600 |27 |11 | 9 | 40 [148[3.2| 46 |725| 70

63 ~600 |27 | 14 |12 | 45 |148 | 3.6 | 56 |825| 80

80 ~800 | 30 | 14 | 12 | 55 | 174 | 4.5 | 72 | 1025 | 100

100 | ~800 |32 | 16 | 14 | 65 |178 | 4.5 | 89 | 122|120

125 | ~1000 | 45 | 20 | 14 | 81 [210| 8 | 90 | 149|136

FMEE FF 5 22 B
k=2 /(F) 15':1 f_,_i—%.
&= | GE |FB | FD | FT | FX | FY | FZ | Fd

32 ~500 | 50 7 10 64 32 | 79 25

40 | ~500 | 55 9 10 | 72 | 36 | 90 | 31

oFd

50 ~600 | 70 9 12 90 45 | 110 | 38.5

63 ~600 | 80 9 12 | 100 | 50 | 120 | 39.5

80 ~800 | 100 | 12 16 | 126 | 63 | 153 | 455

100 | ~800 | 120 | 14 | 16 | 150 | 75 | 178 | 54

125 | ~1000 | 138 | 14 | 20 | 180 | 102 | 216 | 57.5

344

O
2

Best Pneumatics 2 1



BT K Z e vl RERY S/ VTAE

exwsa MB1 #51

(mm)
BT ERS BT AR EH 032 | o040 | 050 263 | 080 | o100 | o125
2N (7 E . F—H) 15
DSAIE] 14 15 10
D-A9[ |V
np 15+10(n—2) \ 15+15(n—2) [ 15+20(n-2)
2/N(FE . F—H) 15 10
DO 14 15 10
D-M9[ ]V
n4 15+5(n—2) 10+10(n—2) CJ1
g'mgﬂwv 2N (RE . [F—M|) 15 10
-M9[]
D-M9JAL 11 15 10 CJP
D-M9[JAVL n/p 15+ 10(n—2) 10+10(n—2) [ 10+15(n—2)
2N (RE . [F—m) 25 15
D-Z7[] 14 25 15 \GJL
D-Z80
n4 25+ 15(n—2) 15+15(0—2) | 15+20(n—2) CM2
2N (FE. FE—@E) 25 15
D-Y597/Y69[] - N o s
D-Y7P/Y7PV CG1
nA 25+10(n—2) 15+10(n—2) | 15+15(n—2)
2/N(FE . F—H) 25 20
D-Y7[OW N o5 20 MB
D-Y7[ WV
n4 25+ 10(n—2) 20+10(n—2) | 20+15(n—2) m
24N (FE . F—m|) 30 20
D-Y7BAL 14 30 20 c A2
n/p 30+10(n—2) 20+10(n—2) | 20+15(n—2)
$1)n=3,4,5
)R hE B 4hEL, CS1
. A\ﬁ.-—l—-g A 4=z10 T A S b r csz
TR SEREME((TERIGENMH) REESE
T
=18
) i
(=) T
T 1© }—I
U
B
BT REENREME (mm) WX ZESE (mm)
HhEFFX D-M9[] v BT
ws|  D-MOOV e zs| DALV D-M9V
D-M9[ W D-A9[] D-Y69[ ]
D-Y7P/Y7PV D-M9[ WV
D-M9[ WV D-A9[ |V D-Y7PV
D-Y7[OW/Y7[JWV D-M9[JAVL
D-M9[ JAL D-Y7BAL D-Y7(WV
D-M9[ JAVL "
FAEE A B A B A B iz Hs Hs
32 9 6 5 2 4 1 32 27 30
40 9 6 5 2 4 1 40 30 33
50 9 7 5 3 4 2 50 36 39
63 9 7 5 3 4 2 63 41 44
80 125 105 8.5 6.5 75 55 80 51 54
100 125 105 8.5 6.5 75 55 100 60.5 63.5
125 145 145 105 10.5 95 95 125 715 745
JE)EFRR EERINFR ST XN NERSEBERE, JE) S #E 5| H A FD-A], MO[], MO[JW, MO[JAL, Z7
[, 80, Y59, Y7P, Y7LIW, Y7BALE R 5/ 52
D-]
-XO
A5
=Xl
AR
BHY
349
4 SNC

Best Pneumatics 2 1



A s
ESEE HHXREGHRHES
I I I
(mm
1 . H1(mm)
¥ > )2 y Up=!
Lo 40 | 50 [ 63 | 80 [100] 125 RS 032-0125
D-A9[ VA9V 75 8 9 95| 105|125 o ,
D-ASLYASLIV 53)DBMP1-032
D-M9 VMOV D-MICYMOLTV @BMG2-012
D-M9OW/M9 WV 45|/ 5 | 6 | 6 | 6 | 7 D-Mo[JW/MO WV
D-M9[ JAL/M9[ JAVL D-M9[JAL/M9[ JAVL
D-Z7[ /280 10 10 10 11 11 12 14 D-Z7[/Z80
D-Y59 /Y69 D-Y5[/Y7P
D-Y7P/Y7PV D-y70OW (DBMP1-032
D-YZOIW/Y7TOIWV Bl 6 T T BT D-Y6[/Y7PV
D-Y7BAL D-Y7OWV
D-Y7BAL

E) SR F R R EK M EAER.

D-A9[1(V)/MO[1(V)/MOIW (V)/MOJA(V)LE K354
(DBMP1-032

MRS X LhEHSLAT B ¥ ILP.1328 1329,

&)
/ @BMG2-012

3

<
1 BRTIIE"BI SRR E "R L, TIRMEFXBTINRE, !
| RS P.1263~1371, :
1 A TIESES RS SH5IHAR 8 1
1 D-273, 276 - 1

= 25 T (1
1 o) L= D280 Bl 4 (1) ProEy— "
: D-Y69A, Y69B, Y7PV P, - 1
. . D-Y7ZNWV, Y7ZPWV, Y7BWV = PSRBT 1
I D-Y50A, Y598, Y7P g ) - !
I D-Y7NW, Y7PW, Y7BW = BUHERCBIETR) :
! .

st F A (NC = bl ) Tofidd R BV 1 FF 55 (D-FOG, FOH, Y7G, Y7HZR) ¥ P.1290, 1292,

o ———————————————— = = ]

350

O
2

Best Pneumatics 2 1





